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Calculus Practice 3.3B5: Techniques for Finding Antiderivatives 8b

Evaluate each indefinite integral. Use the provided substitution.

ese 4esc? —4x
1) fScsc —xcot —x - 2°° 7 dx; u=csc—x 2) f—L dx; u=-cot—4x
cot —4X
3) f—Ssecz x - e dx; u=tan X 4) f—16sec 4xtan 4x - € ¥ dx; U= sec 4X
15sin 5x 2 X
5) f__sm dx; u=cos 5x 6) fcsc dx; u=cot —x
cos 5X cot —X
6cos —3X cot —
7) f—C,L dx; u=sin-3x 8) f2SCsc2 —5% - 4% dx; u = cot —5X
sin —3X

sec — 9 2 -3X
9) f2OSec —5xtan —5x - g% dx; u=sec —5x 10) fL dx; u=cot—-3x
cot —3X
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11) f—Ssin 5% - 67 dx; u=cos 5x 12) VI‘Ssec2 —4x - e ™™ dx; u=tan —4x

12csc® —4x sin— ,
13) f—de; u = cot —4x 14) f12cos —3x. " dx; u=sin-3x
cot —4X
an 9sec” —3x
15) szec24X-4t Y1 dx; u=tan 4x 16) I—de; u=tan —3X
tan —3X

17) fScsc —5x%cot =5 - 4°° X dx; U= csc —5x

18) f—Scsc —5xcot —=5x - 2°° "L dx: u=csc —5x

19) f —2cos —x - " 7 dx; U= sin—x 20) f 3sec?2x - 2" "1 dx; u=tan 2x
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cos 5X cot —Xx
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7) f—C_L dx; u=sin-3x 8) f25CSC2 —5% - 4% dx; u = cot —5X
sin —3X
21n [sin -3x| +C 5. 4eot=5x
—+C
In 4
sec — 9 2 -3X
9) f20sec —5xtan —5x - g% dx; u=sec —5x 10) IL dx; u=cot—-3x
cot —3X
45 4L ¢ 31n ‘cot —3x‘ +C
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11) f—Ssin 5% - 67 dx; u=cos 5x 12) szec2 —4x - e ™™ dx; u=tan —4x

ecos 5X+ C _2etan —4x+ C
12csc® —4x sin— ,
13) f—L dx; u=cot—4x 14) f12cos —3x. " dx; u=sin-3x
cot —4X
—31In ‘cot —4X‘ +C _4e’" X ¢
an 9 2 -3X
15) ‘/‘SSec2 4% - 4™ L dx: U= tan 4x 16) I—L dx; u=tan —3x
tan —3X
5. glandx 3In ‘tan—3x‘+C
——+C
In 4

17) fScsc —5x%cot =5 - 4°° X dx; U= csc —5x

4csc —5X

+C

In 4

18) f—Scsc —5xcot —=5x - 2°° "L dx: u=csc —5x

csc —5x
_L + C
In 2
19) f —2co0s =X - ™" ¥ dx; u=sin —x 20) f 3sec? 2% - 2" dx: U= tan 2x
2esin—x +C 3. 2ta112x

+C
In 2
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